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) 3/4’5 4? —— Il —— % P ? — ? — ?’ H
12 7/8°3 4({) 1 ? 1 I ? —t————1» 12
B 3/8°5 4({) ———+—+—+— % ————+— ? > 3
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19 5/8°3 4({) — {1 —— —+— ? —t+—+> 16.
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ﬂh Bruch mit ganzer Zahl mit Numberline multiplizieren  Name: L 6sungsschlissel

L 6se jede Aufgabe. Antworten
b 6/8-3 49 Cob :1 —t— : ? —t—> 1 18/8:214
& 4/5°2 4(') Il — I ? I ? —> 2. 8/5:135
3 5/7°4 4(') : % : ' : ? T T 3. 207:267
K 5/6°4 4(') ——— :52 — ?: ——— i > 4 206:313
> 2/5°4 4(') | ' ' ? > 5. 8/5:135
6)8/9°3 49: :"1:: ———t ?: —————> 6. 249:223
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8 2/7°4 49 — % —— —— 8 8/7:117
% 3/7°2 49 ——t % — : ? —> 9. 6/7:67
10 2/4°5 4(') — i ' ? ] ? ] ?» 10. 10/4 - 212
D 3/4°5 49 — ? : :')’ R ? —+— ?» 11. 15/4: 334
2 7/8°3 < e+ f > 12 218:258
) 3/8°5 4 — % ————+— ? ——— 13 15/8:178
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= 2/4'3 4(') ! : : | I ?» 15. 6/4 ~ 112
1o 5/8°3 < —— Il ] | ? — > 16. 158:178
8
o 4/8°2 4(') — : 1 : — 17. /8 -1
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9 5/8°2 4(') —+— Il — : : ? S 18, 8:114
19 3/-3 9 L |1 o | % L 19. 97:127
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20)5/8°4 4('):..' 51:'::: '52:: ::'?:::::: 20. /8:2/2
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